T THYNUIN

472

| KIS TS5 F6800

EroN)” AMED)

HOLD DOWN TOGGLE CLAMPS 6800  No.E-9476
6800:55400 6800 NI:SUS304
FEQE) 6800 : I X v+
ISV T AT~

BEER—-Y

|757;"J?7—A |95yt"y9‘ JUa— |b"1‘°—7—»r/7/ _

IJ2595689  |6890

d 4 N B
f v

ToAZVF29Va— | RFUVITRIUz— SN\—F+vT6893
6891 6892

H

; .

Jllc
6800(NI)-0A 6800(NI)-1,3,4,6 6800(NI)-2,5
DR W€
No. A B C D F G  H [ J K L M N O P P Q

6800(ND-O| 4 : 31:135 45 16 10 85 :175 8 43 23 - - .9 95 3~ 4
6800(ND-1| 5 : 39:16 « 45 19 14 - i205: 10 | 55 24 12 © 95° 4~ 3
6800(NI-2| 6 54:20 55 25 :20 24 25 12 6 125 30 27 - 125105 60° -3~ 6
6800(ND-3| 8 @ 8020 « 7.1:36 265 - 36 18 75 - 32 - - 16 105° 60°  0~12

6800-4 | 10 :100:32 = 85 61 30 - 45 20 13 45 22 105° 60° -8~21

6800-5 | 14 114245 = 85 88 40 45 56 29 95315 50 47 @ 5 31 115 60° i-4~34

6800-6 | 14 1165:50 13 90 55 - i85 30 245 - 70 @ - - 1475:140° 60° -7~53
KN TEVC LN BEDEETEET, (-0.-1728<)
iR g R * IR

#—5"—No. No. - RSN - “’g*&%f)*x 2EXLH BEkg i

* 992303 6800-0 0.5 0.7 M 4x0.7 X 25 49% 81 0.06 5,350

* 992304 6800-1 0.6 1.1 M 5%0.8 X 30 60%105 0.11 5,950

* 992305 6800-2 0.8 1.2 M 6x1 X 35 78%129 0.18 7,700

* 992306 6800-3 1.2 2.5 M 8X1.25X 45 112x186 0.41 9,350

* 992307 6800-4 1.7 3 M 8X1.25X 65 140%220 0.63 12,600

* 992308 6800-5 3 5 M12X1.75% 80 195%282 1.48 19,200

* 992309 6800-6 34 55 M12X1.75X110 ©  230x335 2.2 25,800

* 992310 6800NI-0 0.6 0.7 M 4x0.7 X 25 49% 81 0.06 9,850

* 992311 6800NI-1 0.8 1.1 M 5x0.8 X 30 60X 98 0.11 11,300

* 992312 6800NI-2 1.2 1.2 M 6x1 X 35 78%129 0.18 13,700

% 992313 6800NI-3 1.7 2.5 M 8X1.25X 45 112x186 0.34 19,000

SINCE 1560

CADF—959y0—K - EERAE Web ¥ bT! [ 7~V

NABEYA co.,Lp.

2024551



68005S : 55400 6800S : FEA Y+
ISVEVT AT~

2
5
2
7
2
D
®D <
pv4
‘f'\
63\1/
JILC
L bEE
No. | A B  C D E  F G . H I - J K L M oM

68005-2 6 54 . 20 5.5 25 20 25 3~ 6 12 6 27 13 105" = 60°
68005-3 8 | 8 : 20 @ 71 43 27 36 0~12 18 | 75 32 16 : 105° @ 60°

6800S-4 | 10 100 | 32 85 61 30 45 18~211 20 13 45 22 105 ¢ 60°
MANTEVICL) AENEBCEET,
D law e RiEES * [EEIEER
FRIFTIN RILNERXE Y FX - =

ZF—4'—No. No. o1 = £ GrE) 2RX2H Hekg (il
*992314 68005-2 1 1.2 M6X1 X35 78%129 0.26 14,400
*992315 68005-3 1.4 : 2.5 {M8X1.25%X45 1 112X186 0.47 15,800
* 992316 68005-4 2 3 M8X1.25X65 - 140X220 0.69 18,800

BERR-Y

DN IS5IEVTAIYa— |BR=—F4VTT7—LA PS5A =T AT Ua—
TIOR5Y376896 6890 6895 6891
’ t
P.545 » P.546 » P.548  » P.549 »
2SI 2T )a— SN\N—Fvv 6893
6892
P.550  »| P.550  »

SINCE 1560

— N . . ) Q A
NABEYAco.Lto.  CADF-959Y0—K - {EERE(E Web U1 1T ! [ 7~ | 473






